	Issue
	Resolution

	8.5 The issue was over how states would vote.

The __________ plan wanted votes to be based on _____________. This plan was better for big/small states.

The _____________ plan wanted equal votes for reach state. This plan was better for big/small states.


	8.6

The ______________ compromise was the resolution. In this plan there were 2 ________. The house of representatives used votes based on ___________ and in the senate states would have an ___________ number of votes.

	8.7

The issue was over whether __________ would count as people or ___________. 

The south wanted slaves to count as ____________ so that they would get more votes.

The North wanted them to be counted as ___________ since slaves are not given rights they should not be counted as people. 
	8.8

They decided to count slaves as _________ of a person in their population count.

	8.9 Chief Executive

They were arguing over who should lead.

Some people wanted ______ chief executive because an individual would be stronger and more decisive. Some argued that one person in charge was a problem because _______________________________.

Others wanted a group of ________ to be in charge. 
	8.10 Electoral college

Congress decided to elect __________ person to be the chief executive.

The president would serve a ______ year term.

The ____________ college would elect the president.


